[ Efficiency vs vertpos |

= 0.1 : : :
CQ.09F ++++rreeivrenenenen b e,
2 E : : 5
2 0.08F v eeensi e ST S
GO.07F-wmeeesioeeees P
2 : :
£0.0BF oo S oo
0.05] SPPPPP
0.04 S
0.03 () TR
0.02 b
0.01 S
o O | oLl
T 15 BN R SRR i e
@ : p :
1 R
0.5 > ,
107 10 0
TPvertr(cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd __,__ pQM_V0001_R000000001__Global__mkFitNewBins2DC1000time_RECO

N 05
00.45
(2]
> 0.4
>
e
$0.35
o
£ 03
(]
0.25
0.2
0.15
0.1 ; :
0.05 F ........ ........
o 0 ||
% 1A2:
x
0.8F
0.6F : o : :
-30 j 10 20 30

TP vert z (cm)

~ 0.02

6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


